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7 100kN/m#&#BZ % - -~ -|3mZEEZ S -~ - -| 100kN/ Mm% %% - ~ -|3mEER D ~ -
Zhn s ~ Fh s ~ Fh s ~ Zhn st ~
2 100kN/m#%#BZ % ~ -|3mZEEZ S ~ -| 100kN/ Mm% %% ~ -|3mZEEZ D ~
Fhn s ~ Fh s ~ Zh LS ~ Zh st ~
3 100kN/m#%#BZ % ~ -|3mZEEZ S ~ -| 100kN/ Mm% %% ~ -|3mEER D ~
s ~ ZFh s ~ Zh LS ~ Zh st ~
4 100kN/m#%#BZ % ~ -|3mZEEZ S ~ -| 100kN/mi%#BZ % ~ -|3mEEZ D ~
s ~ Fh s ~ Zh s ~ Zhn st ~
5 100kN/m#%#BZ % ~ -|3mZEEZ S ~ -| 100kN/mi%#BZ % ~ -|3mEEZ D ~
s ~ ZFh s ~ Zh LS ~ Zh st ~
6 100kN/m#%#BZ % ~ -|3mZEEZ S ~ -| 100kN/mi%#BZ % ~ -|3mZEEZ S ~
s ~ Zh LS ~ Zh LS ~ Zhn st ~
7 100kN/m#E#BZ % ~ -|3mZEEZ S ~ -| 100kN/mi%#BZ % ~ -|3mEER S ~
ZznLs 1.00 | 000 ~ 4.74 59.07 | st (000 ~ 474 1.79 9.69 znLs 1.00 | 6.00 ~ 5.00 59.07 | #nLst | 5,00 ~ 5600|179 9.59
P 100kN/m#%#BZ % - ~ -|3mZEEZ S ~ -| 100kN/mi%#BZ % - ~ -|3mZEEZ S ~ -
ZzHnLs 1.00 | 0.00 ~ 6.34 79.72 | #0000 ~ 000|171 9.15 znLst 1.00 | 6.00 ~ 7.45 79.72 | #nLSN | 5,00 ~ 7.45| 1.71 915
9 100kN/m#&#BZ % - ~ -|3mZEEZ S ~ -| 100kN/mi%#BZ % - ~ -|3mEERD ~ -
ZHnLs 1.00 | 0.00 ~ 6.35 79.87 | =nLSY 000 ~ 635|1.73 9.24 znLst 1.00 | 6.00 ~ 7.45 79.87 | EnLSN | 500 ~ 7.45| 1.73 9.24
10 100kN/m#%#BZ % - ~ -|3mZEEZ S ~ -| 100kN/ Mm% %% - ~ -|13mEEZD ~ -
ZznLst 1.00 | 0.00 ~ 264 34.60 | st 000 ~ 264|244 13.07 ZznLst 1.00 | 6.00 ~ 5.20 34.60 | NS | 5,00 ~ 5620|244 13.07
11 100kN/m#%#BZ % - ~ -|3mZEEZ S ~ -| 100kN/ Mm% %% - ~ -|13mEEZD ~ -
Zhn st ~ Fh s ~ Zhn s ~ Zhn st ~
12 100kN/m#%#BZ % ~ -|3mZEEZ S ~ -| 100kN/ Mm% %% ~ -|13mEEZD ~
Zhn st ~ Fhn s ~ Fh s ~ Zhn st ~
13 100kN/m#%#BZ % ~ -|3mZEEZ S ~ -| 100kN/ Mm% %% ~ -|13mEEZD ~
ZznLst 1.00 | 0.00 ~ 449 55.99 | s 000 ~ 449 1.97 10.67 znLst 1.00 | 6.00 ~ 5.20 55.99 | #nst | 5.00 ~ 520|197 10.57
14 100kN/m#%#BZ % - ~ -|3mZEEZ S ~ -| 100kN/ Mm% %% - ~ -|13mEEZD ~
ZznLst 1.00 | 000 ~ 448 55.84 | =hst 000 ~ 448 1.93 10.32 znLst 1.00 | 6.00 ~ 5.00 55.84 | #nLst | 5,00 ~ 5.00| 1.93 10.32
s 100kN/m#%#BZ % = = -|3mZEEZ S = = -| 100kN/m%#8% % = -~ -|13mZEEZD = = -
Zh Lot = ZH LS = - ZH LS = = -| 2R st = =
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e 100kN/MZ#8 % % = = -[3mEEZ D = - -| 100kN/m%Zi#8% % > ~ -|3mZEBZ B > -
Zh LSt ~ -| ZhLst ~ ZH LS =~ -| 2R st = =
17 100kN/MZ#8 % % = -[3mEEZ D ~ -| 100kN/m%Z#8Z% % ~ -|3mZEBZ D >
Zh Lot ~ - Ehiust = zh st ~ -| #huist = =
s 100kN/MZ#8 % % = -[3mEEZ D ~ -| 100kN/m%Z#8Z% % ~ -|3mZEBZ B > @
Zzh st 1.00 | 0.00 ~ 4.78 59.561 | #hst 000 ~ 478 1.72 923 Zzh st 1.00 | .00 ~ 5.00 59.51 | #hs | 5,00 ~ 500|172 9.23
19 100kN/ Mm% H#EZ % = ~ -|3mEBZ S ~ -| 100kN/ Mm%z % = ~ = -|3mEEZS = = = =
Lot 1.00 | 0.00 ~ 5.36 66.91 | TN | 000 ~ 636 | 1.85 9.91 ZnLst 1.00 | .00 ~ 6.00 66.91 | NS | 5,00 ~ 6.00| 1.85 9.91
20 100kN/mMZ#8 % % = ~ -|3mZEEBZ S ~ -| 100kN/m%Z#BZ % > ~ = -|3mZEEZD > @ = = =
Zh Lot = -| 2Lt ~ ZH LS ~ -| 2Rt = =
p 100kN/MZ#8 % % ~ -|3mZEEBZ S ~ -| 100kN/m%#BZ % ~ -|3mZEEZD > @
Zh Lot - ZH LS ~ Zh LS = Zh Lo = =
100kN/MZ#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Th st ~ Zzh st ~ Zzh st ~ ZThs ~
100kN/MZ#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh LSt ~ Zzh st ~ Zzh st ~ zhst ~
100kN/MZ#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh LSt ~ Zzh st ~ zh st ~ Zhs ~
100kN/ M Z#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZS ~
Th LSt ~ zh st ~ Zzh st ~ zh s ~
100kN/MZ#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEEBZS ~
Th LSt ~ zh st ~ zh st ~ Zhs ~
100kN/MZ#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZS ~
Th LSt ~ Zh st ~ zh st ~ Zh s ~
100kN/MZ#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh LSt ~ Zzh st ~ Zzh st ~ zhs ~
100kN/MZ#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Th LSt ~ Zzh st ~ Zzh st ~ ZThs ~
100kN/MZ#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZS ~
Zh Lot ~ Zh s ~ Zh LS ~ Zh LS ~
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7 100kN/ M#%#8 2 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3mFBZ D - ~ — — —
zhLst — -~ = — | FhLst -~ = — — LSt — - ~ — —| Enst - ~ — — —
2 100kN/ M#%#82 % — - ~ — —|3mZEBABD| — ~ — — — | 100kN/m%i#BZ 5% — - ~ — —|3mZiBZ D - ~ — — —
ZhLst — - ~ — —| #nst - ~ — — — ZhLst — - ~ — —| Fhst i — — —
3 100kN/M#%#8 2 % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3mZiBZ D - ~ — — —
zhLst — -~ = — | FhList -~ = — — znLst — - ~ — —| Enst - ~ — — —
100kN/M#%#8 2 % ~ 3ImERBAD ~ 100kN/ m#%#8Z% % ~ ImEHBRD ~
zhLst ~ st ~ LSt ~ ZnLs ~
100kN/M#%#82 % ~ 3ImERBAD ~ 100kN/ Mm% 25 ~ ImEHBAD ~
ZhLst ~ Fnst ~ st ~ st ~
100kN/M#%#82 % ~ 3ImERBAD ~ 100kN/ m#%#8Z% % ~ ImEHBAD ~
ZhLst ~ Fnst ~ ZhLst ~ zhnLst ~
100kN/ M#%#8 2 % ~ 3ImERBAD ~ 100kN/ m#%#8% % ~ ImEHBAD ~
zhLst ~ ZnLsn ~ ZnLst ~ ZNLs ~
100kN/ MZ#2Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBAD ~
Thsn ~ ZhLst ~ ZznLst ~ Zhus ~
100kN/M#Z#22 % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
Thilst ~ ZnList ~ TnLlst ~ ZnLst ~
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEBZD ~
Thsn ~ ZhLst ~ ZznLst ~ ZhLs ~
100kN/mMZ#22 % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhsn ~ ZhLst ~ ZznLst ~ Zhus ~
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 . ImEBAD ~
zhsn ~ ZhLst ~ ZznLst ~ Zhus ~
100kN/M%#22 % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
Thilst ~ ZnList ~ TnLlst ~ TNt ~
100kN/M%#2 2 % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEBAD ~
Thsn ~ ZhLst ~ ZnLst ~ Zhus ~
100kN/ MZ#2Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
Thilst ~ ZnLlst ~ ZnLst ~ LS ~




